



## SUMUDU AND ELZAKI INTEGRAL TRANSFORMS FOR SOLVING SYSTEMS OF INTEGRAL AND ORDINARY DIFFERENTIAL EQUATIONS

**Mohammad Almousa\***, Ahmad Al-Hammouri, Qutebah Ali Almomani,  
Mustafa Husam Alomari and Mustafa Mohammad Alzubaidi

Department of Mathematics

College of Science and Technology

Irbid National University

Irbid, Jordan

e-mail: mohammadalmousa12@yahoo.com

### Abstract

We present two integral transforms namely Sumudu (ST) and Elzaki (ET) transforms for solving systems of integral and ordinary differential equations. Also, we study some properties of these transforms. The presented integral transforms are new and simple for solving problems in systems of integral equations and ordinary

---

Received: January 8, 2024; Accepted: January 19, 2024

2020 Mathematics Subject Classification: 45J05, 44A10, 65C30.

Keywords and phrases: Sumudu transforms (ST), Elzaki transform (ET), system of ordinary differential equations (system ODEs), system of integral equations (system IEs).

\*Corresponding author

---

How to cite this article: Mohammad Almousa, Ahmad Al-Hammouri, Qutebah Ali Almomani, Mustafa Husam Alomari and Mustafa Mohammad Alzubaidi, Sumudu and Elzaki integral transforms for solving systems of integral and ordinary differential equations, *Advances in Differential Equations and Control Processes* 31(1) (2024), 43-60.

<http://dx.doi.org/10.17654/0974324324004>

This is an open access article under the CC BY license (<http://creativecommons.org/licenses/by/4.0/>).

Published Online: February 19, 2024

differential equations. Some examples were successfully solved using these integral transforms. The obtained results reveal that the two integral transforms are effective.

## 1. Introduction

During the last years, many techniques and integral transforms were used to solve different types of problems in integral, ordinary and partial differential equations by researchers in sciences and engineering fields. Finding solutions to these problems of integral, ordinary and partial differential equations is very important nowadays. The integral and differential equations play an important role in a wide variety of applied science fields, including mathematics, geometry, analytical mechanics, biology, physics, chemistry, economics, engineering and others. Therefore, it is still finding new applications.

Factually, many integral transforms like Fourier [1], Laplace [2], Aboodh [3], Mahgoub [4, 5], Sumudu [6] and T. M. Elzaki and S. M. Elzaki [7] are tools which are convenient to solve linear and nonlinear mathematical problems. In our work, we focus on Sumudu and Elzaki transforms with their applications to systems of integral and ordinary differential equations. Also, we describe the basic ideas and properties of these integral transforms.

In recent decades, much work has been conducted by researchers on studding novel methods for solutions of systems of integral and ordinary differential equations. Among these are optimal homotopy asymptotic method [8], homotopy analysis method [9], Adomian decomposition method [10], iterative method [11], differential transform method [12], Laplace transform [13] and Sawi transformation [14].

In this article, we present four sections: Section 2 introduces basic ideas and properties of these integral transforms. In Section 3, some applications of systems of integral and ordinary differential equations are presented. In Section 4, we present conclusions.

## 2. Preliminaries

In this section, we present some basic relevant concepts [6, 7, 9, 10].

**Definition 2.1.** The general IVP for a system of ODEs is given by

$$\frac{dU(z)}{ds} = A(z)U(z), \quad U(z_0) = U_0, \quad (1)$$

where  $U(z)$  is a column vector and  $A(z)$  is a square matrix.

**Definition 2.2.** The IEs:

$$u(x) = f(x) + \lambda \int_a^{b(x)} k(x, t)u(t)dt, \quad x \in [a, b], \quad (2)$$

where the functions  $k(x, t) = (k_{ij}(x, t))$ ,  $f(x) = (f_1(x), f_2(x), \dots, f_n(x))$  and  $u(x) = (u_1(x), u_2(x), \dots, u_n(x))$  are column vectors and  $\lambda = \lambda_i$  are constants.

**Definition 2.3.** Let a function in the set  $A$  be defined as

$$A = \{f(t) : \exists M, k_1 k_2 > 0, |f(t)| < Me^{\frac{|t|}{k_j}}; t \in (-1)^j \times [0, \infty[\},$$

Then the ET is stated as

$$E(f(t)) = T(v) = v \int_0^{\infty} f(t) e^{\frac{-t}{v}} dt, \quad t > 0. \quad (3)$$

**Definition 2.4.** The ST is obtained over the following set:

$$A = \{f(t) : \exists M, k_1 k_2 > 0, |f(t)| < Me^{\frac{|t|}{k_j}}; t \in (-1)^j \times [0, \infty[\},$$

as

$$S(f(t)) = F(v) = \frac{1}{v} \int_0^{\infty} f(t) e^{\frac{-t}{v}} dt, \quad t > 0. \quad (4)$$

**Theorem 2.1** (Linearity property). *Let  $f(t)$  and  $g(t)$  be two functions, and  $a$  and  $b$  be constants. Then:*

$$(1) E(af(t) + bg(t)) = aE(f(t)) \pm bE(g(t)), \quad (5)$$

$$(2) S(af(t) + bg(t)) = aS(f(t)) \pm bS(g(t)). \quad (6)$$

**Proof.** (1)

$$\begin{aligned} E(af(t) \pm bg(t)) &= v \int_0^{\infty} (af(t) \pm bg(t)) e^{\frac{-t}{v}} dt \\ &= v \int_0^{\infty} af(t) e^{\frac{-t}{v}} dt \pm v \int_0^{\infty} bg(t) e^{\frac{-t}{v}} dt \\ &= av \int_0^{\infty} f(t) e^{\frac{-t}{v}} dt \pm bv \int_0^{\infty} g(t) e^{\frac{-t}{v}} dt \\ &= aE(f(t)) \pm bE(g(t)). \end{aligned}$$

(2)

$$\begin{aligned} S(af(t) \pm bg(t)) &= \frac{1}{v} \int_0^{\infty} (af(t) \pm bg(t)) e^{\frac{-t}{v}} dt \\ &= \frac{1}{v} \int_0^{\infty} af(t) e^{\frac{-t}{v}} dt \pm \frac{1}{v} \int_0^{\infty} bg(t) e^{\frac{-t}{v}} dt \\ &= \frac{a}{v} \int_0^{\infty} f(t) e^{\frac{-t}{v}} dt \pm \frac{b}{v} \int_0^{\infty} g(t) e^{\frac{-t}{v}} dt \\ &= aS(f(t)) \pm bS(g(t)). \end{aligned}$$

**Theorem 2.2** (Differentiation property). *If  $E(f(t)) = T(v)$  and  $S(f(t)) = F(v)$ , then*

$$(1) E(f^{(n)}(t)) = \frac{1}{v^n} T(v) - \sum_{i=0}^{n-1} v^{2-n+k} f^{(k)}(0), \quad n = 1, 2, \dots, \quad (7)$$

$$(2) S(f^{(n)}(t)) = \frac{1}{v^n} F(v) - \sum_{i=0}^{n-1} v^k f^{(k)}(0), \quad n = 1, 2, \dots \quad (8)$$

**Proof.** We can use mathematical induction to prove this theorem.

**Theorem 2.3** (Convolution property). *If  $f(t)$  and  $g(t)$  are two functions, then*

$$(1) E(f(t) * g(t)) = \frac{1}{v} E(f(t))E(g(t)), \quad (9)$$

$$(2) S(f(t) * g(t)) = vS(f(t))S(g(t)), \quad (10)$$

where

$$(f * g)(t) = \int_0^t f(u)g(t-u)du.$$

**Proof.** (1) Let  $E(f(t)) = \frac{1}{v} \int_0^\infty f(x)e^{\frac{-x}{v}} dx$  and  $E(g(t)) = \frac{1}{v} \int_0^\infty g(s)e^{\frac{-s}{v}} ds$ .

Now, we have

$$\begin{aligned} \frac{1}{v} E(f(t))E(g(t)) &= \frac{1}{v} \left( \int_0^\infty f(x)e^{\frac{-x}{v}} dx \right) \left( \int_0^\infty g(s)e^{\frac{-s}{v}} ds \right) \\ &= \frac{1}{v} \int_0^\infty \left( \int_0^\infty f(x)g(s)e^{\frac{-(x+s)}{v}} ds \right) dx. \end{aligned}$$

Let  $t = x + s$ , so  $dt = ds$ , and

$$\frac{1}{v} \int_0^\infty \left( \int_0^\infty f(x)g(t-x)e^{\frac{-t}{v}} dt \right) dx$$

$$= \frac{1}{v} \int_0^{\infty} e^{-\frac{t}{v}} \left( \int_0^{\infty} f(x) g(t-x) dt \right) dx = E((f * g)(t)).$$

(2) Similarly.

**Corollary 2.1.** *ET and ST of some standard functions are given in the following table:*

**Table 1.** ET and ST of some standard functions

$f(t)$	$E(f(t)) = T(v)$	$S(f(t)) = F(v)$
1	$v^2$	1
$t^n$	$n!v^{n+1}$	$n!v^n$
$e^{at}$	$\frac{v^2}{1-av}$	$\frac{1}{1-av}$
$\sin at$	$\frac{av^3}{1+a^2v^2}$	$\frac{av}{1+a^2v^2}$
$\cos at$	$\frac{v^2}{1+a^2v^2}$	$\frac{1}{1+av^2}$
$\sinh at$	$\frac{av^3}{1-a^2v^2}$	$\frac{av}{1-a^2v^2}$
$\cosh at$	$\frac{v^2}{1-a^2v^2}$	$\frac{1}{1-a^2v^2}$
$f(at)$	$aT(v)$	$aF(v)$

**Proof.** We can use Definitions 2.3 and 2.4 to prove the above corollary.

### 3. Application of the ET and ST to Systems of Integral and Ordinary Differential Equations

Some applications are given to explain the procedure of solving the systems of integral and ordinary differential equations using ET and ST.

**Example 3.1.** Consider a system of two ODEs

$$\begin{aligned}\frac{dx}{dt} + \alpha y &= 0, \\ \frac{dy}{dt} - \alpha x &= 0,\end{aligned}\tag{11}$$

where  $x(0) = c_1$  and  $y(0) = c_2$ .

**Solution using ET:**

By taking ET to both the sides and using its properties, we have

$$\begin{aligned}E\left(\frac{dx}{dt}\right) + E(\alpha y) &= E(0) \Rightarrow \frac{X(v)}{v} - vx(0) + \alpha Y(v) = 0, \\ E\left(\frac{dy}{dt}\right) - E(\alpha x) &= E(0) \Rightarrow \frac{Y(v)}{v} - vy(0) - \alpha X(v) = 0.\end{aligned}$$

By substituting  $x(0) = c_1$  and  $y(0) = c_2$  into the above system, we have

$$\begin{aligned}\frac{X(v)}{v} + \alpha Y(v) &= c_1 v, \\ \frac{Y(v)}{v} - \alpha X(v) &= c_2 v.\end{aligned}$$

Now, the solution of the above system is given as

$$\begin{aligned}X(v) &= \frac{c_1 v^2}{\alpha v^2 + 1} - \frac{\alpha c_2 v^3}{\alpha v^2 + 1}, \\ Y(v) &= \frac{c_1 \alpha v^3}{\alpha v^2 + 1} + \frac{c_2 v^2}{\alpha v^2 + 1}.\end{aligned}$$

From the inverse ET, we have

$$x(t) = c_1 \cos \alpha t - \alpha c_2 \sin \alpha t \Rightarrow x(t) = c_1 \cos \alpha t - c_3 \sin \alpha t, \quad c_3 = \alpha c_2,$$

$$y(t) = \alpha c_1 \sin \alpha t + c_2 \cos \alpha t \Rightarrow y(t) = c_4 \sin \alpha t + c_2 \cos \alpha t, \quad c_4 = \alpha c_1.$$

**Solution using ST:**

By taking ST to both the sides and using its properties, we have

$$S\left(\frac{dx}{dt}\right) + S(\alpha y) = S(0) \Rightarrow \frac{X(v)}{v} - \frac{x(0)}{v} + \alpha Y(v) = 0,$$

$$S\left(\frac{dy}{dt}\right) - S(\alpha x) = S(0) \Rightarrow \frac{Y(v)}{v} - \frac{y(0)}{v} - \alpha X(v) = 0.$$

Substituting  $x(0) = c_1$  and  $y(0) = c_2$  into the above system, we get

$$\frac{X(v)}{v} + \alpha Y(v) = \frac{c_1}{v},$$

$$\frac{Y(v)}{v} - \alpha X(v) = \frac{c_2}{v}.$$

The solution of the above system is

$$X(v) = \frac{c_1}{\alpha v^2 + 1} - \frac{\alpha c_2 v}{\alpha v^2 + 1},$$

$$Y(v) = \frac{c_1 \alpha v}{\alpha v^2 + 1} + \frac{c_2}{\alpha v^2 + 1}.$$

By taking the inverse ST, we have

$$x(t) = c_1 \cos \alpha t - \alpha c_2 \sin \alpha t \Rightarrow x(t) = c_1 \cos \alpha t - c_3 \sin \alpha t, \quad c_3 = \alpha c_2,$$

$$y(t) = \alpha c_1 \sin \alpha t + c_2 \cos \alpha t \Rightarrow y(t) = c_4 \sin \alpha t + c_2 \cos \alpha t, \quad c_4 = \alpha c_1.$$

**Example 3.2** [15]. Consider a system of three ODEs

$$\frac{dx}{dt} - y = e^t,$$

$$\frac{dy}{dt} + z + x = 1,$$

$$\frac{dz}{dt} + x = \sin t, \tag{12}$$

where  $x(0) = y(0) = 1$  and  $z(0) = 0$ .



**Solution using ET:**

Applying ET to system (12) and using the properties, we get

$$E\left(\frac{dx}{dt}\right) - E(y) = E(e^t) \Rightarrow \frac{X(v)}{v} - vx(0) - Y(v) = \frac{v^2}{1-v},$$

$$E\left(\frac{dy}{dt}\right) + E(z) + E(x) = E(1) \Rightarrow \frac{Y(v)}{v} - vy(0) + Z(v) + X(v) = v^2,$$

$$E\left(\frac{dz}{dt}\right) + E(x) = E(\sin t) \Rightarrow \frac{Z(v)}{v} - vz(0) + X(v) = \frac{v^3}{1+v^2}.$$

Using initial condition, the system becomes

$$\frac{X(v)}{v} - Y(v) = v + \frac{v^2}{1-v},$$

$$\frac{Y(v)}{v} + X(v) + Z(v) = v + v^2,$$

$$\frac{Z(v)}{v} + X(v) = \frac{v^3}{1+v^2}.$$

This in turn gives

$$X(v) = \frac{-v^2 - v^3}{v^3 - v^2 + v - 1} = \frac{v^3}{v^2 + 1} + \frac{v^2}{1 - v},$$

$$Y(v) = \frac{v^2}{v^2 + 1},$$

$$Z(v) = \frac{v^3}{v - 1} = v^2 - \frac{v^2}{1 - v}.$$

For solving this system, we take inverse ET to both the sides:

$$x(t) = e^t + \sin t,$$

$$y(t) = \cos t,$$

$$z(t) = 1 - e^t.$$

**Solution using ST:**

Here, by applying ST and using its properties, we get

$$S\left(\frac{dx}{dt}\right) - S(y) = S(e^t) \Rightarrow \frac{X(v)}{v} - \frac{x(0)}{v} - Y(v) = \frac{1}{1-v},$$

$$S\left(\frac{dy}{dt}\right) + S(z) + S(x) = S(1) \Rightarrow \frac{Y(v)}{v} - \frac{y(0)}{v} + Z(v) + X(v) = 1,$$

$$S\left(\frac{dz}{dt}\right) + S(x) = S(\sin t) \Rightarrow \frac{Z(v)}{v} - \frac{z(0)}{v} + X(v) = \frac{v}{1+v^2}.$$

Using initial condition, the system becomes

$$\frac{X(v)}{v} - Y(v) = \frac{1}{v} + \frac{1}{1-v},$$

$$\frac{Y(v)}{v} + X(v) + Z(v) = 1 + \frac{1}{v},$$

$$\frac{Z(v)}{v} + X(v) = \frac{v}{1+v^2}.$$

The solution of this system is given by

$$X(v) = \frac{-1-v}{v^3 - v^2 + v - 1} = \frac{v}{v^2 + 1} + \frac{1}{1-v},$$

$$Y(v) = \frac{1}{v^2 + 1},$$

$$Z(v) = \frac{v}{v-1} = 1 - \frac{v}{1-v}.$$

Now, by taking inverse ET to both the sides, we have

$$x(t) = e^t + \sin t,$$

$$y(t) = \cos t,$$

$$z(t) = 1 - e^t.$$

**Example 3.3** [15]. Consider a system of second order ODEs

$$\begin{aligned}\frac{d^2x}{dt^2} + 3x - 2y &= 0, \\ \frac{d^2y}{dt^2} + \frac{d^2x}{dt^2} - 3x + 5y &= 0,\end{aligned}\tag{13}$$

with IC:  $x(0) = y(0) = 0$ ,  $\frac{dx}{dt}(0) = 3$  and  $\frac{dy}{dt}(0) = 2$ .

**Solution using ET:**

Applying ET to both the sides in system (13), we have

$$\begin{aligned}E\left(\frac{d^2x}{dt^2}\right) + 3E(x) - 2E(y) &= E(0) \\ \Rightarrow \frac{X(v)}{v^2} - v\frac{dx}{dt}(0) - x(0) + 3X(v) - 2Y(v) &= 0, \\ E\left(\frac{d^2x}{dt^2}\right) + E\left(\frac{d^2y}{dt^2}\right) - 3E(x) + 5E(y) &= E(0) \\ \Rightarrow \frac{X(v)}{v^2} - v\frac{dx}{dt}(0) - x(0) + \frac{Y(v)}{v^2} - v\frac{dy}{dt}(0) - y(0) - 3X(v) + 5Y(v) &= 0.\end{aligned}$$

Using IC, the following system becomes:

$$\begin{aligned}\frac{X(v)}{v^2} - 3v + 3X(v) - 2Y(v) &= 0, \\ \frac{X(v)}{v^2} - 3v + \frac{Y(v)}{v^2} - 2v - 3X(v) + 5Y(v) &= 0.\end{aligned}$$

The solution of the above system is

$$X(v) = \frac{v^3(3 + 25v^2)}{9v^4 + 10v^2 + 1} = \frac{1}{12} \left( \frac{3v^3}{9v^2 + 1} \right) + \frac{11}{4} \left( \frac{v^3}{1 + v^2} \right),$$

$$Y(v) = \frac{2(12v^5 + v^3)}{9v^4 + 10v^2 + 1} = \frac{11}{4} \left( \frac{v^3}{1 + v^2} \right) - \frac{1}{4} \left( \frac{3v^3}{1 + 9v^2} \right).$$

Taking inverse ET to both the sides, we have

$$x(t) = \frac{1}{12} \sin 3t + \frac{11}{4} \sin t,$$

$$y(t) = \frac{11}{4} \sin t - \frac{1}{4} \sin t.$$

**Solution using ST:**

Applying ST to both the sides in system (13), we have

$$S\left(\frac{d^2x}{dt^2}\right) + 3S(x) - 2S(y) = S(0)$$

$$\Rightarrow \frac{X(v)}{v^2} - \frac{\frac{dx}{dt}(0)}{v} - \frac{x(0)}{v} + 3X(v) - 2Y(v) = 0,$$

$$S\left(\frac{d^2x}{dt^2}\right) + S\left(\frac{d^2y}{dt^2}\right) - 3S(x) + 5S(y) = S(0)$$

$$\Rightarrow \frac{X(v)}{v^2} - \frac{\frac{dx}{dt}(0)}{v} - \frac{x(0)}{v} + \frac{Y(v)}{v^2} - \frac{\frac{dy}{dt}(0)}{v} - \frac{y(0)}{v} - 3X(v) + 5Y(v) = 0.$$

Using IC, the following system becomes:

$$\frac{X(v)}{v^2} - \frac{3}{v} + 3X(v) - 2Y(v) = 0$$

$$\Rightarrow \frac{X(v)}{v^2} + 3X(v) - 2Y(v) = \frac{3}{v},$$

$$\begin{aligned} \frac{X(v)}{v^2} - \frac{3}{v} + \frac{Y(v)}{v^2} - \frac{2}{v} - 3X(v) + 5Y(v) &= 0 \\ \Rightarrow \frac{X(v)}{v^2} - 3X(v) + \frac{Y(v)}{v^2} + 5Y(v) &= \frac{5}{v}. \end{aligned}$$

The solution of the above system is

$$\begin{aligned} X(v) &= \frac{v(3 + 25v^2)}{9v^4 + 10v^2 + 1} = \frac{1}{12} \left( \frac{3v}{9v^2 + 1} \right) + \frac{11}{4} \left( \frac{v}{1 + v^2} \right), \\ Y(v) &= \frac{2(12v^3 + v)}{9v^4 + 10v^2 + 1} = \frac{11}{4} \left( \frac{v}{1 + v^2} \right) - \frac{1}{4} \left( \frac{3v}{1 + 9v^2} \right). \end{aligned}$$

By inverse ET to both the sides, the solution is

$$\begin{aligned} x(t) &= \frac{1}{12} \sin 3t + \frac{11}{4} \sin t, \\ y(t) &= \frac{11}{4} \sin t - \frac{1}{4} \sin t. \end{aligned}$$

**Example 3.4.** Consider a system of second kind IEs

$$\begin{aligned} u_1(x) &= 1 - x^2 + \int_0^x u_2(t) dt, \\ u_2(x) &= x + \int_0^x u_1(t) dt. \end{aligned} \tag{14}$$

**Solution using ET:**

Applying ET to both the sides in system (13), we have

$$E(u_1(x)) = E(1 - x^2) + E \left( \int_0^x u_2(t) dt \right) \Rightarrow U_1(v) = v^2 - 2v^4 + vU_2(v),$$

$$E(u_2(x)) = E(x) + E \left( \int_0^x u_1(t) dt \right) \Rightarrow U_2(v) = v^3 + vU_1(v).$$

This in turn gives

$$U_1(v) - vU_2(v) = v^2 - 2v^4,$$

$$U_2(v) - vU_1(v) = v^3.$$

The solution of the above system is

$$U_1(v) = v^2, \quad U_2(v) = 2v^3.$$

Taking inverse ET to both the sides, we have

$$U_1(x) = 1, \quad U_2(x) = 2x.$$

**Solution using ST:**

$$S(u_1(x)) = S(1 - x^2) + S\left(\int_0^x u_2(t) dt\right) \Rightarrow U_1(v) = 1 - 2v^2 + vU_2(v),$$

$$S(u_2(x)) = S(x) + S\left(\int_0^x u_1(t) dt\right) \Rightarrow U_2(v) = v + vU_1(v).$$

This in turn gives

$$U_1(v) - vU_2(v) = 1 - 2v^2,$$

$$U_2(v) - vU_1(v) = v.$$

The solution of the above system is

$$U_1(v) = 1, \quad U_2(v) = 2v.$$

Taking inverse ST to both the sides, we have

$$U_1(x) = 1, \quad U_2(x) = 2x.$$

**Example 3.5.** Consider a system of second kind delay IEs

$$u_1(x) = 2 - e^{-x} + \int_0^x (x-t)(u_1(t) + u_2(t)) dt,$$

$$u_2(x) = 2x - e^x + 2e^{-x} + \int_0^x (x-t)(u_1(t) - u_2(t))dt. \quad (15)$$

**Solution using ET:**

By taking ET to both the sides and using its properties, we have

$$E(u_1(x)) = E(2) - E(e^{-x}) + E\left(\int_0^x (x-t)(u_1(t) + u_2(t))dt\right)$$

$$\Rightarrow U_1(v) = 2v^2 - \frac{v^2}{1+v} + v^2U_1(v) + v^2U_2(v),$$

$$E(u_2(x)) = E(2x) - E(e^x) + E(2e^{-x}) + E\left(\int_0^x (x-t)(u_1(t) - u_2(t))dt\right)$$

$$\Rightarrow U_2(v) = 2v^3 - \frac{v^2}{1-v} + \frac{v^2}{1+v} + v^2U_1(v) - v^2U_2(v).$$

This in turn gives

$$U_1(v)(1-v^2) - v^2U_2(v) = 2v^2 - \frac{v^2}{1+v} = \frac{2v^3 + v^2}{1+v},$$

$$U_2(v)(1+v^2) - v^2U_1(v) = \frac{-2v^5 - v^3 + v^2}{1-v^2}.$$

The solution of the above system is

$$U_1(v) = \frac{v^2}{1-v}, \quad U_2(v) = \frac{v^2}{1+v}.$$

Taking inverse ET to both the sides, we have

$$U_1(x) = e^x, \quad U_2(x) = e^{-x}.$$

**Solution using ST:**

Taking ST to both the sides and using its properties, we get

$$S(u_1(x)) = S(2) - S(e^{-x}) + S\left(\int_0^x (x-t)(u_1(t) + u_2(t))dt\right)$$

$$\Rightarrow U_1(v) = 2 - \frac{1}{1+v} + v^2U_1(v) + v^2U_2(v),$$

$$S(u_2(x)) = S(2x) - S(e^x) + S(2e^{-x}) + S\left(\int_0^x (x-t)(u_1(t) - u_2(t))dt\right)$$

$$\Rightarrow U_2(v) = 2v - \frac{1}{1-v} + \frac{1}{1+v} + v^2U_1(v) - v^2U_2(v).$$

This in turn gives

$$U_1(v)(1-v^2) - v^2U_2(v) = 2 - \frac{1}{1+v} = \frac{2v+1}{1+v},$$

$$U_2(v)(1+v^2) - v^2U_1(v) = \frac{-2v^3 - 2v - 2}{1-v^2}.$$

The solution of this system is

$$U_1(v) = \frac{1}{1-v}, \quad U_2(v) = \frac{1}{1+v}.$$

By inverse ET to both the sides, we have

$$U_1(x) = e^x, \quad U_2(x) = e^{-x}.$$

**4. Conclusion**

We have provided two integral transforms, namely ST and ET for solution of systems of integral and ordinary differential equations. We have applied the selected integral transforms for solving some examples of systems of integral and ordinary differential equations. Clearly, these



transforms are characterized by their simplicity of use. Also, it is accurate and efficient method for solving such systems of equations.

### References

- [1] S. Bochner and K. Chandrasekharan, Fourier Transforms, Princeton University Press, USA, 1949.
- [2] D. V. Widder, The Laplace Transforms, Princeton University Press, USA, 1946.
- [3] K. S. Aboodh, The new integral transform "Aboodh transform", Global J. Pure Appl. Math. 9(1) (2013), 35-43.
- [4] M. M. A. Mahgoub, The new integral transform "Mahgoub transform", Advances in Theoretical and Applied Mathematics 11(4) (2016), 391-398.
- [5] M. Almousa, Solution of second order initial-boundary value problems of partial integro-differential equations by using a new transform: Mahgoub transform, European Journal of Advances in Engineering and Technology 5(10) (2018), 802-805.
- [6] G. K. Watugala, Sumudu transform: a new integral transform to solve differential equations and control engineering problems, Internat. J. Math. Ed. Sci. Tech. 24(1) (1993), 35-43.
- [7] T. M. Elzaki and S. M. Elzaki, On the connections between Laplace and Elzaki transforms, Advances in Theoretical and Applied Mathematics 6(1) (2011), 13-18.
- [8] M. Almousa and A. Ismail, Exact solutions for systems of linear and nonlinear Fredholm integral equations by using optimal homotopy asymptotic method, Far East J. Math. Sci. (FJMS) 90(2) (2014), 187-202.
- [9] M. Matinfar, M. Saeidy and J. Vahidi, Application of homotopy analysis method for solving systems of Volterra integral equations, Advances in Applied Mathematics and Mechanics 4(1) (2012), 36-45.
- [10] J. Biazar, E. Babolian and R. Islam, Solution of the system of ordinary differential equations by Adomian decomposition method, Appl. Math. Comput. 147(3) (2004), 713-719.
- [11] K. Wang and Q. Wang, Iterative method for a system of nonlinear Fredholm integral equations, Math. Probl. Eng. (2021), Article ID 9432010, 10 pages. <https://doi.org/10.1155/2021/9432010>.

- [12] I. H. A. Hassan, Application to differential transformation method for solving systems of differential equations, *Applied Mathematical Modelling* 32(12) (2008), 2552-2559.
- [13] A. A. Wordu, O. E. Ojong and R. N. Okparanma, Resolving systems of ordinary differential equations in a naphtha reforming process: comparison of Laplace transform and numerical methods, *Results in Engineering* 16 (2022), 100743. <https://doi.org/10.1016/j.rineng.2022.100743>.
- [14] M. Higazy and S. Aggarwal, Sawi transformation for system of ordinary differential equations with application, *Ain Shams Engineering Journal* 12(3) (2021), 3173-3182.
- [15] S. Aggarwal and S. D. Sharma, A comparative study of Mohand and Sumudu transforms, *Journal of Emerging Technologies and Innovative Research* 6(3) (2019), 145-153.